COMP 111 - Week 2 Learning Activities
Activity 2-1

Outcome: Distinguish between a data type, an identifier, and a variable.

Inspect the following few lines of code and identify the data types, identifiers, and variables. In the chart provided make a mark under the appropriate column(s) for each line. Note that a given line may match more than one column header or possibly none at all.

String greeting = "Hello, World!";

PrintStream printer = System.out;

int luckyNumber = 13;

	
	Data Type
	Identifier
	Variable

	String
	X
	X
	

	greeting
	
	X
	X

	"Hello, World!"
	
	
	

	PrintStream
	X
	X
	

	printer
	
	X
	X

	System.out
	
	X*
	X

	int
	X
	
	

	luckyNumber
	
	X
	X

	13
	
	
	


*out is a PrintStream object.  It is a constant field of the System class, defined as follows: public static final PrintStream out

Activity 2-2

Outcome: Distinguish between objects, classes, and methods.

Inspect the following few lines of code and identify the objects, classes, and methods. In the chart provided make a mark under the appropriate column(s) for each line. Note that a given line may match more than one column header or possibly none at all.

String greeting = "Hello, World!";

PrintStream printer = System.out;

int n = greeting.length();

String river = "Mississippi";

String bigRiver = river.toUpperCase();

	
	Object
	Class
	Method

	String
	
	X
	

	greeting
	X
	
	

	"Hello, World!"
	X
	
	

	PrintStream
	
	X
	

	printer
	X
	
	

	System.out
	X
	
	

	int
	
	
	

	n
	
	
	

	length()
	
	
	X

	river
	X
	
	

	"Mississippi"
	X
	
	

	bigRiver
	X
	
	

	toUpperCase()
	
	
	X


Activity 2-3

Outcome: Distinguish between inputs and outputs of methods.

What are the inputs and outputs in the method call river.length() (assuming river is a String object)?

There is no explicit parameters input to length.  The object variable river is an implicit parameter to length.  The return value is an integer (int), a count of the number of characters contained in the String object value the method is being called on (which for this example will be 11, the number of characters in the String object "Mississippi").
What are the inputs and outputs in the method call greeting.replace("World","David").length() (assuming greeting is a String object.)?

The input to the replace method is the String object "World" (the target) and the String object "David" (the replacement), which are both explicit parameters.  The greeting string object is an implicit parameter to the replace method.  replace returns a String object, which for this example will be "Hello David!".  That String will be the implicit parameter in the call to length, which takes in no explicit parameters and returns a count of the number of characters of the value contained in that String.  For this example the value will be 12.
Activity 2-4

Outcome: Identify appropriate number types for various kinds of data.

Given the following brief descriptions of a situation or a piece of information, identify the data type you would use and why.

1. An automated teller machine must print the amount of money in a person’s account.

double (floating-point value) since money amounts can have fractional values.
2. A grocery store manager needs to know the total number of people in a given line.  If that number is above a specified amount, then the manager wishes to open another register.

int (integer) since number of people will always be a whole number.

3. The state lottery commission needs to generate random numbers for the next lottery.

int (integer) since lottery numbers are whole numbers.

4. An advertising company asks people to take a survey in exchange for a packet of coupons. For company records, the program needs to record the names of the people to ensure that nobody completes the survey more than one time.

String because a name is a text value.
5. You want to calculate the average score on your exams.  You have received scores of 80/100, 90/100, and 100/100.  If you were to calculate the answer by typing, (80 + 90 + 100) / 300, in Java, what is the answer and its type?
0, int (if you made denominator 300.0, then result would be .9, double)
6. A bakery wishes to know what percentage of the day’s muffins got sold. Twenty-five were sold out of fifty.  If you were to calculate the answer by typing, (25 / 50) * 100, in Java, what is the answer and its type?

0, int (if you made denominator 50.0, then result would be 50.0, double)
